fisR= SEEHENNEERSERERES

b=k} B AR
B 13251 13997 | 27248 (99.449%)
ERE 68 86| 154 (.56%)

R 13319 (48.6%) 14083 (51.49%) | 27402 (100.09%)

TEEE | FEERE | 5k hE AR
SEET | EE 5880 1507 2804 3128 13319
SEREIR AT 96 44.1% 11.3% 21.1% 23.5% | 100.0%
RN % 43.6% 43.7% 49.1% 65.8% 48.6%
SRR | EE 7608 1941 2907 1627 14083
BRI 54.0% 13.89% 20.6% 11.6% | 100.0%
SRR %6 56.4% 56.3% 50.9% 34.2% 51.4%
HEFD S 13488 3448 5711 4755 27402
SEEHTR IR %6 49.2% 12.6% 20.8% 17.4% | 100.0%
SERRERINHI % 100.096 | 100.0% | 100.09% | 100.09% | 100.0%
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